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1 FHEX x*—16x+63=0
(1) RE =R LTS Hik
(x—9) (x—7) =0

Z (1) ~ (3) OFETHE 30,
(2) (x1+@) *=A ORIZERL T HiE
X*—16x=—63
X‘—16x+64=—63+64

2 WOFERKXZME I

(1) x*—5x=—x+21
X2—5x+x—21=0
X2—4x—21=0
(x—7) (x+3) =0
x=7, x=-3

(x—8) =1
X—8==+1
X=7, x=9
16ty 162—4x 63
X= 2
16+ ¢4
B 2
16+ 2 X=7, x=9

(2) (x+2) *=—5x+14
x?+t4x+4+5x—14=0

xX2+9x—10=0
(x—1) (x+10) =0
x=1, x=—10

(3) (x+1) *+2 (x+1) =0

x+1&EMET B E
M2+2M=0

M (M+2) =0
M=0ZFfIlEdM+2=0

Lizh>Txy+1=0FklEx+1+2=0

x=—1, —3

(4) (x—1) *—5 (x—1) +6=0

X—1&MET B L
MZ2—5M+6=0
(M—2) (M—3) =0
M—2=0Ff<ldM—3=0
LzA>Txy—1—2=0FklExy—1-3=0
xX=3, 4

X=3, x=4

2 2WHERX x?tax+b=0 N1, 4ADLXx, albDEEFNENRD I,

4 LN LT,
(x—4) =0

@A 1,
(x—1)

b=4 Th%d,

a=—5%,

x2t+ayxy+b=0ZRYUDEL THILE
EVWSHEOKICHEBEWNS Z LRI B,
CNhEERTSHE x2—5x+4=0 EL%HBBHDT




